Homework 1.4

This week we learned about Reynolds number, energy loss, minor loss, and different
types of flows. Reynolds number was developed by a guy name Osborne Reynolds, and
developed an equation that helps us find energy loss. When we divide fluid inertia forces by
viscous forces, we can look at a graph to find out what the energy loss is. If Re < 2100, then the
flow is laminar, if Re > 4000 then the flow is turbulent. There was another person who

developed a similar way to find energy loss. Darcy developed the equation: H =fx % *
2

Z—g, which also uses an overly complicated graph that no one can read for exact values. If the
. . . 64 . .
flow is laminar we can use the equation,f = — and if the flow is turbulent (and god has
T

25 I .
abandoned you) we use f = 02 5. It is important to know these values, as it helps
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design piping diagrams and understand what is going on inside them.

In open channel systems, the Reynolds number changes from Re < 2100 and Re > 4000
to Re < 500 and Re > 2000. The Reynolds equation also changes to N = ?. If friction is less

than 1, it is sub critical flow, If it is equal to 1, then it is critical flow, and if it is greater than 1, it
is super critical flow.
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